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P6
m’/s
8000
7,000m%/s
6000 |- R
S57
S46 —
H16 f17
547 ]
4000 | m 534 Hs 7 20
H_8 H18
2000 |-{ | |- - e N R N N R - BERE - |- — [ — -
0

S28 S33 S38 S43 S48 S53 S58 S63 H5 H10 H15 H20










40 7 9 48 353 92 105 264 13 315
46 8 -20 18 284 26 43 200 -48 256
47 7 -96 -62 93 -200 =177 -22 -261 S7
54 7 -98 -64 104 -189 -167 -11 -253 64
57 7 25 -18 20 282 31 50 202 -37 267
5 8 -44 -7 226 -115 -103 69 -193 120
707 -24 13 258 -21 -4 153 -96 212
8 7 -96 -61 106 -193 -174 -13 -261 57
16 8 -97 -63 97 -184 -158 -8 -243 73
17 9 -44 -7 204 -106 -88 73 -180 133
18 7 -29 8 252 -52 -41 127 -138 172
20 6 =21 17 275 -30 -19 149 -111 197

cm]




40 173 162 22 19 169 63
46 121 89 16 28 62 -48
47 27 18 -44 -57 72 -29
54 23 9 -29 -71 -61 =177
57 25 173 163 25 1 170 57
5 -17 -15 24 -11 -65 -186
7 60 36 -4 -9 21 -86
8 -23 -19 -48 -96 -40 -151
16 26 24 -9 3 41 -60
17 44 38 -10 -1 97 2
18 3 -20 -13 -30 -45 -154
20 32 16 12 6 -20 -131

cm]
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40 7 -12 -61 58 61 74 186 6 308
46 8 -43 -93 -14 -9 6 119 -63 243
47 7 -115 -166 -195 -218 -206 -82 -265 53
54 7 -105 -156 -156 =173 -160 -38 -221 94
57 25 -38 -87 -8 7 25 132 -40 265
5 8 -61 -111 -58 -129 -125 11 -190 123
77 -44 -93 -32 -45 -31 85 -99 209
8 7 -114 -165 -179 -208 -199 -70 -260 58
16 8 -119 -170 -196 -208 -193 -74 -253 64
17 9 -63 -113 -83 -115 -104 19 -171 141
18 7 -48 -97 -36 -72 -65 63 -138 172
20 6 -39 -88 -11 -49 -41 85 -110 198

cm]
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40 7 168 140 14 5 169 63
46 8 111 67 9 27 62 -48
47 7 24 5 -48 -65 72 -29
54 7 46 19 0 -44 -61 -178
57 25 169 146 21 -8 170 o7
5 8 -14 -23 28 -7 -65 -186
77 58 22 -8 -16 21 -86
8 7 -23 -29 -46 -94 -40 -151
16 8 19 7 -18 -8 41 -60
17 9 57 40 -1 16 97 2
18 7 3 -31 -13 -32 -45 -154
20 6 32 4 10 -1 -20 -131

cm]
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S28 S29.9 S40.7 S57.7
283m
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284m

M 283m 283m

v=277.5m v 277.5m v 277.5m

- v

v 270m v 270m
1600 m3 3400 m3 1 9,700 m3 1 13000 m3
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